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Physics Simulations

Projectile Motion

(Show all work!)
(Acceleration of gravity is 9.8 m/s2)
1. A) If a 5 Kg pumpkin is launched at a 37 degree angle above the X axis at 20 m/s, how far away from the cannon does the pumpkin land? Assume negligible air resistance.
B) If a larger pumpkin is launched, how does that affect the distance?

C) If the cannon is raised to 10 meters above the ground and hits the same target in 2.6 seconds, what is the new initial velocity? 
2. Now move the cannon to the other side of Michelangelo at a distance of 23 meters (as far as the cannon will go). If you launch the pumpkin at 50 m/s, what two angles (use sig figs) greater than 90 degrees would you need to launch the pumpkin in order to hit Michelangelo on top of the head and knock his knickers off?
